Parts Information:
Compressor 100ltr V-Twin Belt Drive 3hp
Oil Free

Model No: SAC10030F

Item | Part No. Description Item | Part No. Description
1 SAC5158800008 | TANK100 litre n SAC7210140000 EMC FILTER
2 SAC4083020000 | WHEEL KIT (170x41) 12 | SAC7457900000 | BRACKET, EMC FILTER
3 SAC7130160000 TAP 3/8" 13 SAC7084780000 | JOINT, 1/4x 8
4 SAC7360500000 | RUBBER FOOT 14 | SAC7233140000 FEED HOSE
5 SAC7364600000 | ANTI-VIBRATION MOUNT 15 SAC7152410000 REAR COVER, BLACK
6 SAC7091240000 HANDLE PLUG 16 | SAC7152420000 FRONT COVER, BLACK
7 SAC7023050000 | LOCK NUT 17 SAC7152400000 CONVEYOR
8 SA2415.100 PRESSURE SWITCH KIT 16/20Amp 12Bar 175Ps 18 SAC7422340000 | PUMP 230v 50/60hz (F6000)
9 SAC7190080000 NON-RETURN VALVE 19 $S825.5 HEX HEAD SET SCREW M8x25mm SINGLE
10 | SAC7230010000 RISLAN HOSE (SOLD PER 1 METER) 20 | SN8S STEEL NUT M8 ZINC DIN934 (SINGLE)

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of product.
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR

I 01284 757500 | .ﬁ 01284 703534 | @ sales@sealey.co.uk | www.sealey.co.uk

SAC10030F Issue 2 18/08/17

Page 10of 2



Parts Information:
EA LE Compressor 100ltr V-Twin Belt Drive 3hp
Oil Free

Model No: SAC10030F

Item | Part No. Description Item | Part No. Description
1 SAC7422340010 STATOR 230V 50/60Hz (F6000) 12 | SAC7422340080 | BELT,RIBBED (ID-420)
2 SAC7422340020 | ROTOR 230V 50/60Hz (F6000) 13 | SAC7422340090 | CON-ROD/PISTON
3 SAC7422340030 MOTOR HEAD 14 FWM10.S FLAT WASHER M10 SINGLE
4 SAC9700001815 MOTOR FAN 16 SAC7422340110 PINION GEAR
5 SAC7422340040 BEARING SEAT (dia 26.2mm) 17 SAC7422340120 CYLINDER (PISTON SLEEVE)
6 B/60877 BEARING 60827 18 SAC7422340130 VALVE PLATE SET (SQUARE INC O-RINGS)
8 B/6202-2RS BEARING 6202-2RS 19 SAC7422340140 HEAD
10 SAC7422340060 SPACER, ALUMINIUM D34.7 21 SAC7214660000 FILTER 1/4"
n SAC7422340070 PULLEY

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of product.
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR

I 01284 757500 | .ﬁ 01284 703534 | @ sales@sealey.co.uk | www.sealey.co.uk

Page 2 of 2 SAC10030F Issue 2 18/08/17



